Intermediate Algebra Skill
Solving Quadratic Form Equations: Substituting a Variable for a Quantity

Solve the following equations:

1) (n2+2n)2—14(n2+2n)—15=0 2) (n2—3n)2—8(n2—3n)—20=0
3) (2u2—u)2—4(2u2—u)+3=0 4) (3u2+2u)2—13(3u2+2u)+40=0
5) 6(3p+2) —7(3p+2)-20=0 6) 12(2p—1) +13(2p—1)+3=0

7) (3+E) +3(3+x)-10=0 8) (1+vx) —5(1+x)+6=0

9) (3-V) ~10(3-Vx)+23=0 10) (5+3) —14(5+F)+33=0

1) [x—%f—6(x—§}+5:0 12)( 15} 4(x 1;3] 21=0
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Answers to Solving Quadratic Form Equations: Substituting a Variable for a

Quantity

1) =5,3,—-1
2) 5,-2,1,2



